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1. memwﬁﬁ%ﬁw: 1x8-8

Choose the correct answer from the

following :

Deviation from the social ideal is called
h can be solved by

social problem, whic

(i) IR 2ACoBR A
government effort
(i) TS HCOER A
individual effort
(iii) TR AR T
group effort (Turm over)
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(2)

(b) '|[5|||&§ AR m’ “qzq @w, Q’@-W
T RYF TR Mo IR g e ofewr

R TR M AR @} Fome @A
SRR 7

Who stated social problem as “a
condition which is defined by a
considerable number of persons as a

deviation from some social norms which
they cherish”?

Fuller and Myers
- (@) IR

Blumer
(i) I} F v
Raab and Selznicyc
(d SOC‘iology of Indian

The author of th .
Indian Society is € book, Sociology of

i) I gy

(3)

[3 qﬁw,
(d) SREES (I 7S ‘FHH FIE T

(e)

S ? ‘Central Social
In which year was t_he Cen e
Welfare Board’ established in

(i) >>eo/1950
(ii) >»>ed>/1951
(iii) S>e©/1953

‘Indian Red Cross Society‘ 9 O

Indian Red Cross Society’ is &

(i) SIFIR TR o
government organizatio

(i) CTRCR T o
voluntary organization

(iti) SY-5TFRA TRAA
semi-government organ

TR fRrEr SRURAIGH cefom R

e 2

ity’ cept
When did the ‘social security con
develop?

(i) Sa #fFre
17th century

(ii) Sv WSFTS
18th century

(i) >» =fSFS
19th century

ization

s mymn Ol)er)



(g)

(h)
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(4)

‘Harijan’ *R0R” F57% K 14 o (2 0L, 7

Whose name is associated with the term
‘Harijan’?

(i) ©. < @O

Dr. Annie Besant
(i) TN RsE™

Swami Vivekananda
(iii) F=E Sl

Mahatma Gandhi

TGO WS O A A T
= ?

Which one of the following is not a social
problem according to sociologist?

(i) TR [IER=R

Women trafficking
(i) 9 A7 TR Spe1f

Mental disorder of an individual
(iii) TIfe

Prostitution
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(5)

2. 5y (o foran (2ot Seo =R o) - 4x4=16

Write short notes on (within 150 words
each) :

(@) SaiEe ST 2o PLRIRS)

Alcoholism as a social problem
(b) I AAGE A
Social problems of aged
(c) e S 2o el
Illiteracy as a social problem

o —‘ﬁﬂﬂ
(d) AIfEE T @mﬁ 7{\6137{; ;e
Role of NGO on social we

(=4fSCoT
'Fﬁﬁﬁ‘:ﬁWﬁm,ﬁWﬂWWW

¢os w RoeTe)

o two fro
Answer four questions, takir;l}g:
Part (within 500 words €2

m each

qa—> / Part—1

& fr T
Tt IR SRPIR o
K oy ek b ST SR 4+10-14

2
i roblerm
What are the causes of social P

Discuss its consequences. (Tum Ay



(6)

(b) TR 5 7 sRefs yo AR T
foweet ¥R ez wram # 4+10=14/

What is the meaning of corruption?
Explain the causes of corruption as the
major social problem in India.

() &R ReTPRT A 9 oo oA

P &Rt SR RepRa e e 4 o4

| 4+10=14

What is population explosion? Write an
€ssay on population explosion as a
major problem in India.

(d) T SO WS AR TR @
TPIPTRE Re Remd w11

Analyze. the problems faced by the
women In contemporary Indian society.

98— / Part—2

TNRET TR Sew fay | TREIAS ANIEGE
PR GG ™4E S 9947 | 4+10=14

Define social welfare. Discuss about the
Importance of social welfare in India.

ARG IS B
PR Raes e <= |

Discuss the background of social welfare

activities of non-government organization
in India.

(a)

(b)
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(7)

Teolfe

| TR
(¢ STRe freeR wy o 441014

o FuRerd RIE Sl 901

Express the meaning of social security.
Discuss its origin and development.

SHe e mx ¥ WIS fraerer
IRERA @S @3 B T

e measures of social
ted by the

@ 14

Write an essay on th
security which have been adop
Government of India.
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